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1. R B R —RATHEMSFTRAZBU(E/ By FE) B~ R# > RFEAHRMET
#2 X (55N %8 b% » 3£ 25%) -
(a) M2 =501 +xy=5
(b) (x? +yHdx —2xydy =0
du  9%ud*udu
(©) 3+ smomoy
(d) y" = 8cos(x)

dx 1
(e) ;1_;; - 8cos(x)

2. RMERMRT 7 —MFaenF X (E& 8 10% 0 4 20%)
r_ sin(x)cos(y)
(a>y T cos(x)sin(y)

(b)xy' + 2y = cos(x), y (g) =0

3. T4u&Re? cos(2x) fu eX¥sin(RX) ¥ M B REFMyF A
(Kb vk - LT B4 (10%)
(b)A&RT— /28 > Z ekt Ay(0) = % ~y'(0) = —% » XAk IVP(initial value
problem)(10%)

4, MEZ_BEMASFREKY" + 5y — 6y = 4e* 2 @AR(15%)

5. #| A Laplace #4& £ #& st [VP(initial value problem) : 3y"+ 6y'+3y =3t H y(0) =
—1-y'(0)=1 (20%) °
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